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Chimney Construction

This article discusses at a basic level the process of chimney construction. v
The concept, design, and operation can be understood easily. This, of course, is |
the first step to orderly construction.

The selection of the boiler as to type, capacity, etc., was summarized in brief.
The over all planning of the boiler and chimney together was the main object
of this article. The architectural books covering this subject are very technical and
this article tries to make the understanding of the basic principles more easy for

the beginner in architecture.
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